Aluminum Pull

UHFA s=sns

7" TRikF - TR ELE = P.xxxx
ENEpsIv

N NBK

0512-5290-1560

info@nbk1560-chn.com.cn

b
< E=N
g
| b
M L1 ‘
w L ‘
® MR, RELE 0 ronis
UHFA-AL*1 UHFA-BK / UHFA-SG / UHFA-RD*1
. BE BE
PRSI | BB BUR (B THEE)
wE R RS
R R
AR o suswr
*1: [UHFA-12] RKHH2E,
BS A L1 D H L
UHFA-8-55 8 55 12 40 67
UHFA-8-64 8 64 12 40 76
UHFA-8-88 8 88 12 40 100
UHFA-8-96 8 96 12 40 108
UHFA-8-100 | 8 100 12 40 112
UHFA-10-88 |10 88 15 47 103
UHFA-10-100 |10 100 15 47 115
UHFA-10-120 |10 120 15 47 135
UHFA-10-180 |10 180 15 47 195
UHFA-10-200 |10 200 15 47 215
UHFA-12-125 12 125 - 60 137
UHFA-12-160 |12 160 = 60 172
UHFA-12-200 12 200 = 60 212
UHFA-12-250 |12 250 = 60 262
*1: FRANNSFERH.

w-m
o RER,

o HAMETHUE, AIFEEMBEERRNBR. RT,.
o fEE ((UHFA-12] BN REMM R, BREBEME
ESESUN

® REAIEN 47, JRERNSHRERFSHITER,

RENS RELE

AL AR S AL EE

BK FHERBUR (TLER)
SG EREBBUR (IER)
RD BHERIBUR (TL4T)

o FHEBBIR AT B RIRNITILE, SMFRE,

® NG KY R AR N A B K18 1E (SUSXMT ). 1%
ERBLIHRIRSS (BRARAIT).

47 : mm

Lf M w ﬁf;ﬁﬁ*] mE(g) giﬁﬁﬂﬁ%

9 M4 36 1000 23 M4 x 10

9 M4 36 1000 24 M4 x 10

9 M4 36 1000 28 M4 x10

9 M4 36 1000 29 M4 x 10

9 M4 36 1000 29 M4 x 10
13 M5 42.5 1000 44 M5 x 12
13 M5 425 1000 45 M5 x 12
13 M5 42.5 1000 51 M5x 12
13 M5 42.5 1000 65 M5 x 12
13 M5 425 1000 69 M5x 12
12 M6 50 1000 79 M6x 12
12 M6 50 1000 90 M6 x 12
12 M6 50 1000 102 M6 x 12
12 M6 50 1000 117 M6x 12

o WSIETF

HFA-8-55 -
UHFA-8-55 &
UHFA-8-55-AL-P
| | @Fﬁﬁ
BRSS

ERBLHHNRS (RS KN, HE-RESHREEM[-P),

/ BISEZIED = P.xxxx
AIX AL, B ST

https://www.nbk1560-chn.com.cn/



